


'The Second World War was the consequence of mistrust
among major European powers'. How the imposition of
recommendations of Treaty of Versailles responsible for
the War?

TE i viea ® 9w afwwew fidw w33
F1 9o on 43 % fag fedgr safs «t 9w =1
farfet = #Q IRw fF @

Decolonisation was followed by the neo-colonialism by the
superpowers during the Cold War. How this approach
influenced the US-Soviet outreach towards newly
independent countries.
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Arms race among major powers is due to failure of
disarmament strategies. Discuss in the light of major nuclear
flashpoints in the world.
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